ADJUSTABLE ROLLER CARRIER l_ /A\ R G E M ! S SI I_ E
ATTACHED W/ (2) S5/16" x 3/4° 14GA, CENTER HINGE ATTACHED 13 GA COMMERCIAL
) 4°

13 GA. GALV. COMMERCIAL BOLT & NUT PER BRACKET R SR Y
s [ U St e, IMPACT RESISTANT
3/4* HEX HEAD SCREWS o ADJUSTABLE SLIDE BRACKET ATTACHED M

PER BRACKET LX) W/(@> 5/16° x 3/4* BOLT AND NUTS
3* 20GA. STRUTS ATTACHED N s
W/ @ 1/4” x 3/4°
X)) HEX HEAD SCREWS AT 24 GA SKIN (M350>
,l CENTER STILE
TYPICAL TOP FIXTURES @ SEE PAGE 2 FOR \ 3
N.TS. DPTIONAL GLAZED SECTIONS
STRUT AND STILE LAYOUT ° SPLICE TRACKS AT THIS

] LOCATION W/(4) 1/4"-20
TYPICAL CENTER HINGE o TRACK SPLICE BOLTS &
NTS. NUTS SECURE TO JAMB

_SEE (TABLE 2) ON PAGE 3 FOR
RECOMMENDED SECTION CONFIGURATION

(SPLSICD WITH (3) 5/16" DIA. x
STILE STIFFENERS <D _ 1-5/8" LAG BOLTS
SRR - i
(1) 5/16” DIA. x 1-5/8"
HOLES FOR STRUT D § LAG BOLT ATTACHED TO JAMB
' T RTTeELbET OF STRUT P
Z H
TP e END_ HINGE
14 GA,
_ 12 GA. GALV. STEEL
E JAMB BRACKETS
THROUGH ATTACHED W/ (1) 1/4"=20
TRACK SPLICE BOLT & NUT
AT ShEN OR (2) RIVETS
FOR CLARITY
D , \‘ C
C 3’ x 20 GA. STRUTS
TYPICAL STILE STIFFENER 5
N.T.S.
)
| n
¥

SEE TABLE 4 ON PAGE 3

‘| FOR STILE PLACEMENTS L— I
EE (TABLE 1> ON PAGE 3

! 9'-0° MAX 1 FOR STRUT SPACING
INSIDE ELEVATION
TS 3’ 20GA. STRUT
ATTACHED W/
@ 174" X 3/4°

SEE (TABLE 3> ON PAGE 3

BOTTOM BRACKET ~ FOR JAMB BRACKET SPACING
ATTACHED

VAL INANE /o TRACK CONFIGURATION FOR 66" UP TO 14’ TALL DOORS

BOTTOM BRACKET
13 GA. THICK ATTACHED
W/(3 1/74* X 3/4"

ATHEI_:);DHE‘&]]J) sccEIEET\.E/g HEX HEAD SCREWS N.T.S.
STILES CO T. STEEL RETA!NER
CONT. BTM SEAL REV | DESCRIPTION OF REVSIONS DA [BY
v & E1N/3~HIN63E/4‘)TTACHED A | WND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12RIR
X
HEX HEAD SCREWS B | ADDED GLAZNG NOTE 12/19/12[RR
3 20GA, STRUTS ATTACHED 2 10 BALL STEEL OR SECTION A—A (SIDE VIEW) : =
HEX HEAD lééRE’{,,?/:T 14GA, ROLLER CARRIERS ATTACHED 10 BALL NYLON WITH - N.T.S. MAX SIZE &3 EX
EACH END STILE TO END STILE W/ (2 1/4° x 374* S* STEM ROLLER 9 x 14 No FECSSNNN BN
HEX HEAD SCREWS PER CARRIER PICAL BOTTOM BRACKET INTERIOR OF GARAGE DESIGN LOADS 23 <3¢ OF TE* £
: w o-‘ cesvoee, 1 é
N.TS. @ —=| MAX. WDTH 90" |=— +35.6 PSF | o % «‘x =3
2 10 BALL STEEL OR -42.1 PSF | BE £
2 T o™ i 5
a;: ........... l 8(9}
pesion Loaps [ F T T T T T 1T 111 TEST LOADS | 52 4 5¢
| +53.4 PSF | S 4 ; 82
TYPICAL END HINGE @ HIOZEYET SEENOTE 2 ~63.1 PSF | Es J 33
N.T.S. ] 58
SPECIFICATIONS AND NOTES LARGE :’é tens i EL
o MSSLE | 85/ /7 “TWOSIONALEN 2 H
() 516" D, x 1-5/5° r s o on oo L ALk K005 FEOM T 0008 I8 TONSTERRED To T MCFIGALTACK. | IMPACT | 58 WK
LAG BOLT ATTACHED TO JAMB RESISTANT = SN
AT EA. JAMB BRACKET (NO. 2 OR BETTER) THE METHOD OF TESTING WAS IN SUBSTANTIAL Fﬁﬁ%ﬁ;ﬁﬁﬁ %i%ﬁ::: :T)::Ei :;:RTL'Z:D:::"E Lor > =3 TX £3
" |CONFORMANCE WITH THE PROCEDURE DESCRIBED IN ASTM 2, EACH VERTICAL JAMBS RECENES
20 GA CENTER STILES—\ UPTIDN;IEL%EEE E330 AND DASMA 108. THE PRESSURES SHOWN /ON }'HE 3N§%§Aé% HARDWARE WLL BE DESIGNED. MANUFACTURED arr
DRAWINGS WERE CALCULATED USING ASCE 7-98/02/05 WITH A - Am____—‘““" =
h . . (.019" DO ORS
4 7 / / THE FOLLOWING PARAMETERS (5 FEET OF DOOR WIDTH IN R S TIONS AL BE 25 GA. MIN. (.0197) ROLLED FORMED LIGHT s o —
: /7 s, ' A AT T oo S o o (S -
MODEL #650 OAK SUMMIT SERIES 1000 & 2000
. ND Y
B0 s STEE; 16" DA, BOLT RETANER EXPOSURE LEVEL B c c D D BRAND LABELS PLEASE SEE AMARR-MANFAGTURED PRIVATE LABEL GCHART MODEL #600 STRATFORD SERIES 1000 & 2000
4 * ’ ’ ! FOR REFERENCE OF EQUIVALENT PRODUCTS FOR WINDLOAD APPROVAL.
e PR Lo MEAN ROOF HEIGHT| 30 | 15 | 25 | 15 | 25 R To e B e o Ao G0 o MODEL #950 HERITAGE SERIES 1000 & 2000
o, X »
g:LEgE RBR/LETT SAND NUT %R A%Q%HE:LE&S?Q%' 8. PANEL STAMP DOES NOT EFFECT WINDLOAD CAPABILITIES. SIZE| DRAWN BY  BHG| DATE 11/20/09 DRAWNG NUMBER
TRACK MOUNTING DETAIL B | coEckm BY DL | DATE 11/20/09 IRC-6009-150-15-1
NTS. SHEET 1 OF 3




033" GALV STEEL INTERIOR IMPACT WINDOW FRAME
033’ GALV STEEL EXTERIOR IMPACT WINDOW FRAME W/.5” BITE ON GLASS

DECDRATIVE PLASTIC 1
MILDED EXTERIOR VIN

S/16° OVERALL

1/8* CLEAR ANNEALED GLASS
090" PVB INTERLAYER

1/8° CLEAR ANNEALED GLASS
MANUFACTURED BY GUARDIAN

25 GA. STEEL DOOR SKIN

;,\ SUREBOND SB-190
STRUCTURAL ADHESIVE

2. 3/16"_ X i/2* SCREW - USED TO
FASTEN THE STEEL EXTERIOR IMPACT WINDOW FRAME TO
THE STEEL INTERIOR IMPACT WINDOW FRAME.

3.11/64" X 1/2° SCREW - USED TO fASTEN DECORATIVE PLASTIC MOLDED
WINDOW FRAME TO THE ASSEMBLY

SECTION B-B IMPACT WINDOW DETAIL

N.T.S.

IMPACT GLAZING FASTENER DETAIL
N.T.S.

3 20GA. STRUT LOCATED AT THE TOP
AND BOTTOM OF GLAZED SECTION
ATTACHED W/<2> 1/4" X 3/4* HEX HEAD
SCREWS AT END AND CENTER STILES

INTERMEBIATE SECTION

GLAZING OPTION DETAIL
N.T.S.

OPTIONAL SHORT PANEL GLAZED SECTION STRUT AND STILE LAYOUT

WOOD JAMB ATTACHMENT TO STRUCTURE

2. X 6 VERTICAL JAMB ATTACHMENT TO WOOD FRAME STRUCTURE

5/16” X 3° LAG SCREWS STARTING 6° FROM ENDS THEN 24" O.C. (1 1/2° EMBEDMENT>
X 6 VERTICAL JAMB ATTACHMENT T 000 P: N

HILTI KWIK BOLT 3/8° X 4° STARTING 6’ FROM ENDS THEN 24” OC. <2 1/2° EMBEDMENT)

HILTI SLEEVE ANCHOR 3/8” X 2-3/4” STARTING 6’ FROM ENDS THEN 24° O.C. (1 1/4° EMBEDMENT

ITW/RAMSET REDHEAD (TRU-BOLT> 3/8° X 4 STARTING 6’ FROM ENDS THEN 24‘ OC. (2 1/2° EMBEDMENT
X_6 VERT MB ATTA T _T0 H K

SIMPSON 1/4* X 3” TITEN SCREWS STARTING 6° FRDM ENDS, USE PAIRS OF FASTENERS

(3’ APART) AT 16” 0O.C. (1 1/2" EMBEDMENT)

HILTI 1/4* X 2-3/4* KWIK-CON II+ SCREWS STARTING 6° FROM ENDS, USE PAIRS OF

FASTENERS (3” APART> AT 167 O.C. (1 1/4* EMBEDMENT)

2.X 6 VERTICAL JAMB ATTACHMENT TO GROUTED €-90 BLOCK <2000 PSI GROUTY
HILTI SLEEVE ANCHOR 3/8° X 2-3/4” STARTING 6” FROM ENDS THEN 24 0.C. 1 174
EMBEDMENT> (OR, USE FASTENERS FOR HOLLOW C-90 BLOCKD

*AGS AND BOLTS CAN BE COUNTERSUNK TO PROVIDE A FLUSH MOUNTING SURFACE.
*PREPARATION OF WOOD JAMBS BY OTHERS

A A Y

wOoD CONCRETE HOLLOW BLOCK GROUTED BLOCK
E STRUC-TURE STRUCTURE STRUCTURE STRUCTURE
i -
i)
i i \ I 1 \ » 1}
2 ~ < | i
J b TJ J LJ
1/2* MIN 2-3/4" MIN 1-1/2" |MIN 4
2X6 JAMB
TYP, 3" MIN

REV | DESCRIPTION OF REVISIONS DATE [y
A | WND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12[RIR
B | ADDED GLAZNG NOTE 12/19/12[RR

MAX SIZE

9 x 14
DESIGN LOADS

+35.6 PSF

~42.1 PSF

TEST LOADS
+53.4 PSF
—-63.1 PSF

NN

LARGE
MISSILE
IMPACT

RESISTANT

Thomas L. Shelmerdine, PE (TX PE #85829)
Structural Solutions, PA (TX Firm #F-004063)

dba Structural Solutions of North Carolina, inc.
5921-G W. Friendly Ave., Greensboro, NC 27410

DOOR HEIGHT

GARAOE DOORS

165 CARRIAGE COURT WINSTON-SALEM, N.C. 27105

STANDARD UFT
LOW HEADROOM

VERTICAL UFT

HIGH UFT
e

E MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000

DRAWNG NUMBER

-m SITE| ODRAWNBY  BHG| DATE 11/20/09
L LI B

IRC-6009-150-15-1

CHECKED BY DLJ | DATE 11/20/09
AVAILABLE TRACK CONFIGURATIONS
N.T.S.

SHEET 2 OF 3




TABLE 1
DOOR STRUT SPACING (BASED ON RECOMMENDED SECTION CONFIGURATION) TOP
HEIGHT| A B C D E F G H [ J K T
6'6" |51/2"(18 1/4" |36 1/4"|43 1/2" |54 1/4" 67 1/2"
7 51/2"118 1/4"|39 1/4" |46 1/2" |60 1/4" 73 1/2"
76" |51/2"{151/4" 33 1/4" |40 1/2" |51 1/4" |69 1/4"|76 1/2" 88 1/2"
8' 51/2"{18 1/4" |36 1/4" |43 1/2" |54 1/4"|72 1/4"|79 1/2" 94 1/2"
8'6" 15 1/2"|18 1/4"|39 1/4" |46 1/2" |60 1/4"|78 1/4" |85 1/2" 100 1/2"
9 51/2"115 1/4" |33 1/4" |40 1/2" |51 1/4" {69 1/4"|76 1/2"| 87 1/4" 99"
9'6" |51/2"|18 1/4"|36 1/4"|43 1/2" |54 1/4"|72 1/4" |79 1/2"| 90 1/4" 103 1/2"
10' |5 1/2"118 1/4"|39 1/4" |46 1/2" |60 1/4" |78 1/4" {85 1/2"| 96 1/4" 109 1/2"
10'6" |5 1/2"|18 1/4" |39 1/4" |46 1/2"|60 1/4" |81 1/4" |88 1/2"|102 1/4" 1115 1/2"
11" 151/2"118 1/4" |36 1/4" |43 1/2" |54 1/4" (72 1/4"|79 1/2"| 90 1/4" 1108 1/4"|115 1/2" 130 1/2"
11'6" |5 1/2"118 1/4"|39 1/4" |46 1/2" |60 1/4" {78 1/4"|85 1/2"| 96 1/4" |114 1/4"|121 1/2" 136 1/2"
12" [51/2"|18 1/4"|39 1/4" |46 1/2" |60 1/4" |81 1/4"|88 1/2" 102 1/4" {120 1/4" 127 1/2" 142 1/2"
12'6" |5 1/2"[18 1/4"|36 1/4" |43 1/2" |54 1/4" |72 1/4" {79 1/2"| 90 1/4" {108 1/4" {115 1/2"|126 1/4" 139 1/2"
13" |5 1/2"|18 1/4" 39 1/4"|46 1/2"|60 1/4" |78 1/4"|85 1/2"| 96 1/4" [114 1/4"[121 1/2"|132 1/4"|145 1/2"
13'6" |5 1/2"|18 1/4"|39 1/4" |46 1/2" |60 1/4"|81 1/4" |88 1/2"|102 1/4" {120 1/4" {127 1/2"|138 1/4" {151 1/2"
14" [51/2"118 1/4"|39 1/4" |46 1/2" |60 1/4" |81 1/4"|88 1/2"|102 1/4" {123 1/4"[130 1/2" 144 1/4"|157 1/2"
Note: As an alternative the top section on 7' tall doors may be reinforced with (1) 3" 20 ga. strut on the bottom
and (1) 3" 20 ga. strut on the top of the section.

* ADDITIONAL STRUTS MAY BE ADDED TO DOOR WHEN GLAZED FOR COUNTERBALANCE PURPOSES

TABLE 2

DOOR SECTION HEIGHTS

HEIGHT [Btm | #2 | #3 | #4 | #5 | #6 | #7 | #8
14'0" |21 (21" | 21" [ 21" [ 21" | 21" | 21" | 21"
13'6" (21" 21" 21" [ 21" | 21" | 18" [ 18" | 21"
13'0" | 21" 21" 21" | 18" | 18" | 18" | 18" | 21"
12'6" | 21" 18" | 18" [ 18" | 18" | 18" | 18" | 21"
12'0" (21" (21" [ 21" [ 21" | 21" | 18" | 21"
11'6" | 21" 21" | 21" [ 18" [ 18" | 18" | 21"
11'0" 21" | 18" | 18" | 18" | 18" | 18" | 21"
10'6" (21" | 21" [ 21" [ 21" | 21" | 21"

10'0" | 21" | 21" | 21" [ 18" [ 18" | 21"
96" |21"|18"| 18" | 18" | 18" | 21"
90" |[18"|18"| 18" | 18" [ 18" | 18"
86" |[21"|21"[21"[18"| 21"
80" |[21"|18"|18"| 18" | 21"
76" |18"(18"|18"| 18" | 18"
70" 21" 21" | 21" | 21"
6'6" |21"[18"| 18" | 21"

TABLE 3
DOOR TRACK ATTACHMENT SPLICE
HEIGHT | A|B|C|D|E| F | G | H S
6'6" [3.5"21"|39"|57" 70"
7' 3.5"121" 42" | 63" 76"
7'6" [3.5"[18"|36"|54"| 72" 82"
8' 3.5"121"|39" | 67" | 75" 88"
86" [3.5"]21"[42"|63" (81" 94"
9 3.5"(18"|36"|54"|72"| 90" 100"
9'6" |3.5"|21"|39"|567"(75" | 93" 106"
10’ 3.5"121" 142" (63" |81"| 99" 112"
10'6" |3.5"|21"|42" (63" 84" 105" 118"
11' 3.5"121"139" (67" | 75" | 93" |111" 124"
11'6" |3.5"(21"|42"|63"|81"| 99" | 117" 130"
12' 3.5"121" 142" |63"|84" (105" 123" 136"
12'6" |3.5"(21"|39"|57"|75"| 93" [111"|129"| 142"
13' 3.5"121" 42" (63" [81"| 99" |117"|135"| 148"
13'6" [3.5"[21"|42"|63"|84" (105" [123"[141"| 154"
14' 3.5"|21"|42" (63" 84" |105" | 126" | 147" 160"

TABLE 4
Section Center Stile Location
Width Panel Type (Measu!;eddg ;r;)m Left
(t)
8' 0 [Short, Oak Summit 48.000
80 Long 48.000
8' 2 |Short, Oak Summit 49.000
82 Long 49.000
8'4 |Short, Oak Summit 50.000
84 Long 50.000
8' 6 [Short, Oak Summit 51.000
8'6 Long 51.000
8' 8 [Short, Oak Summit 52.000
8'8 Long 52.000
8' 10 |Short, Oak Summit 53.000
8' 10 Long 53.000
9'0 [Short, Oak Summit 54.000
9'0 Long 54.000

ALL TRACK ATTACHMENT SPACING +/-2" WITH SYP OR SPF NO. 2 OR

BETTER ONLY

REV | DESCRPTION OF REVISONS DA [BY
A__| WND SPEED TABLE & TRACK CONFIGURATIONS | 04/30/12 RIR
B | ADDED GLAZNG NOTE 12/19/12[RR
e
— Ot
MAX SIZE | 5@ £F
g x4 | 88 ~ EN
DESIGN LOADS =7 =% o8B0 ~ 2%
+35.6 PSF | =% & Os
-421 PSF | Ex £2
B z$
G PrecesfVeceisccatncesasrscervones 1-10]
TEST LOADS %§ AS L. SHELMERDINE, £4
+53.4 PSF 54 eogbescrnsiversoriesosasazasany .g;
-631 PSF | ES . 85829 o7 33
£3 P, ¢ Q s 2¢
wree | 38 SN\ KeCENSE & S
MISSILE £3 ‘\(9 SIONALEN 2= EH
IMPACT I E s a9
RESISTANT | F& TX £5

165 CARRIAGE COURT WINSTDN-SALEM, N.C. 27105

MODEL #650 OAK SUMMIT SERIES 1000 & 2000
MODEL #600 STRATFORD SERIES 1000 & 2000
MODEL #950 HERITAGE SERIES 1000 & 2000

DRAWNG NUMBER

SE
B

DRAWN BY  BHG| DATE 11/20/09

CHECKED BY DLJ | DATE 11/20/08

IRC-6009-150~15-1

SHEET 3 OF 3




